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(6 points) A new temperature scale has been devised.  In this temperature scale, the freezing point of water is 275oD and the boiling point of water is 597oD.  Convert 25oC into oD.









































(3 points) How does Dalton’s atomic theory explain the law of conservation of mass?























(3 points) How many protons, neutrons, and electrons are in an atom of 62Co?























(8 points) A bag of Hershey’s Kisses contains the following information:


Serving size: 9 pieces = 41 grams


Calories per serving 230


Total fat per serving 13 g


The bag contains 2.0 lbs of Hershey’s Kisses.  How many Kisses are in the bag?























The density of a Hershey’s Kiss is 1.4 g/mL.  What is the volume of a single Hershey’s Kiss?





